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Physics (New Scheme) (INTER PART-11} 418 - {) . . Paper 1}
Time: 20 Minutes OBJECTIVE Muarks: §

Note: You have four choices for each objective tvpe question s A, B, C and . The choice which yon think 1 cov
F11 that circle in front of that question number. Use marker or pen to fill the circles. Cutling or Filling twas o e
circles will result in zero mark in that question. Attempl as many gic stions s given i objective ype e
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paper and leave others blank.
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When some dielectric is inserted between the plates af a capacitor, then capacitance.

{A) decreases (B) increases (C) becomes Leru () becomes mlinn
Intensity of field inside a hollow charged sphere will he

(A) negative (B) unafizcted (C) zero . () maximum
<A ol current flows through a conductor in 2 minutes, charge in the wire is

(A) 500C (B) 600C (C) 400 C [y 10c

The resistance of a conductor of length L, cross-seetional arca *A” and resistivity Tp 7 is pives by

(A) R= L—— () R=pAL <y R= p-f—';- i1y

Two paralle] wires carrying current in the oppos site directions o

(A) may repel or utlract each ather (B} atract cach other

(C) have no effect on each other (D) repel each r

Phe ST uml o!‘ﬂux density is .

(A) Nm A7 B) NA'm" ©) m: (D) NA'm

Encrgy slored per unit volume is called '

(A} surface charge density () {g dcnam

(C) energy density V wuetion

[[ V, is the peak value of A.C. voltage *

{-"\..' Vrnw = rznvﬁ {Fn V {{] “’rms ,? {D-} Vrn‘..-' = ‘:1,
!.": = =

The rn‘:mmc reactance ‘{| ) ductunce L across an A.C, source is given by

(A) . e w X, = o (D X, =20l

’ [ s L '

Condtictors hm A%mue: of the ardcr ol

(A) 1Y ~’( 1) 107y (©y 10%(Qm)"! 0y 10° ¢

Curi I for iron is

(A) T8RC (B) 750°C Ey 350 () 710°C

in n-type substance, minority charge carrics are

{A) clectrons (B) holes (Cy protons (1) neulrons

Conversion ul only one hall of A.C. into D.C. is called

{A) hull wave amplification (B) wave amplification

(Cy hall' wave electrification (1) half wave rectitication

By modern sntun of NAVSTAR, the speed anywhere on the carth can be deternined to accuracy FIEEH

(A) 20ms” @) 10ms” (€) 2Cms” D) 2ms”

‘e value of plank’s constant i

(A) 885x 107018 (B) 1.6% 107?18 Wy 6.63x 1677118 (D) 6.62x pa¥s

Paschen series lie in the

(A) tar-ultraviolet region (B) visible region (C) infrared region (D)) ultraviolet rewion

1
The charge number of B;l is
56
(A 197 (B) 141 (C) 85 (D 36
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Physics (Now Scheme)
Time: 2:40 Hours

)2
(INTER PART-11) 418
SUBJECTIVE

Paper 11
Marks: 08

Note: Scction | is compulsory. Atempt any three (1) questions from Section 11

2 Write short answers to any FIGHT questions.
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4. Wrlte short answers to any SIX guestions.
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¢ short answers to any EIGHT guestions.

(SECTION -1}

B (2 x8 =106

Haw can you identify that which plate of capacitor is positively charged?

Derive relation for potential gradient.

Write down any two properties of eleetric tield lines.

Do electrons tend to go 10 region of high potentinl of of low potential?

Give ils reason.

What is the difference between magnetic flux and magnetic flux density?

Give the units of both quantitics.

How the beam ol clectron is focused on the screen of CRO? Show it with diagram.
I{' s charged particle moves in a straight line through some region of space, can You say that
Ue magnetic field in the region is Z¢ro OF RON-7ETO-

Why the resistance of an ammeter should be very low?

What is meant by mutual inductance? Give its units.

Draw and label the diagram of a D.C motor.

Can an electric motor be used to drive an electric generator with the outpul

from the generatar being used to operate the motor.

How would you position a flat loop of wire ina changing magnétic field,

<o that there is no emf induced in the loep?

2x8= 16
Do bends in a wire alTeet its electrical resigtmced Explain.

Describe a circuit which will give 4 Contindously varying potential.

Brietly describe the current through & metallic conductor and drift velocity.

An A.C. voltmeter reads 24, Vi What is its peak value?”

A 100 pF capacitor is gopnected,to an alternating voltage of 74 V and frequency SU Hz.
Calculate the current in the circuil.

How does doublmg the Irequency affect (he reactance of 7

g} an igductor b) @ capacier

Write a notglon super sonductors.

What is meant by ferromagnetic substances?

What is meant by steain energy”’

What is meant by forward biasing und reverse biasing of P-n junetion?

Write a note on LED.

Write down the applications of photo-diode.

{2 %= 2
Detine Compton effect and pair production.

Wiyt advantages an electron microscope has over an optical microscope?

Which has the lower energy quanta? Radio waves of X-rays.

Define speetroscopy, holography. '

What are the advantages of laser over an ordinary light?

Why are heavy nuclei unstable?

A particle which produces more jonization is less penctrating. Why?

How can radioactivity help in the treatment of cancei?

Derine Hadrons and Leptons.

i

i
5
[
LD

o R T TR



)

(SECTION - 11)

‘What is potentiometer? How can it be used as

i) Potential divider

i) Measuring of emfofacell. ,

T'wo point charges q; = -1.0 X 10°Cand g;= 4.0x 107 C are separated by a distance of 3.0
Find and justily the zero-field location.

What is A.C. generator? Give its principle, construction and working of A.C. generator,

A power line 10 m high carries a current of 200 A. Find the magnetic lield of witat the pround.
Explain the RLC serics resonance ¢ircuit. Determine the value of resonant freguency

and write down its propertics.

The current flowing into the base of transistor is 100 pA. Find its collector current I,

lts emitter current g and the ratio -1—5 i the value of current gain f§is 100.

: E
Whal is meant by strain energy? Draw force extension @raph for a vertically suspended wire
stretched by a variable weight at the other end arid bysit$ graph derive a relation to calculae
its value.
An clectron accelerated through a potential@ittCeence ot 30 V. Caleulate its de Broglie wavelengit
What is nuclear reactor? Describe its@rincifle, construction and working.
Compute the shortest wavelength ofgadiation in the Balmer SCries.
What value of *n’ must be used? :
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